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Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people 1s the authentic life. not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhiji ran the books they wrote. sold little, but had enormous eftect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message. to their example. All knew that their lives were an integral
whole - they were not moral in public life and lax in private. nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers. even one who 1s merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here 1s the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak: *1
believe that an editor who has anything worth saying and who commands a clientele cannot be easily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lokmanya Spoke more eloquently
trom the Mandalay fortress than through the columns of the printed Kesari. His influence was multiplied
thousandfold by his imprisonment and his speech. and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise his life’s dream. He could possibly have done more if he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this

expression of his or that, Today his message rules millions of hearts which are determined to raise a permanent
living memorial by the fulfilment of his ambition in their lives.”

Sub questions

Question Number : 1 Question Id : 68634039196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesari.

What 1s the meaning of ‘eloquently’ in the above sentence?

1. announce solemnly
2. Convert in the intelligible language
3. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340154801. 1

686340154802. 2

686340154803. 3
686340154804. 4

Question Number : 2 Question Id : 68634039197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following 1s the result of Lokmanya Tilak’s exemplary life ?
1. People resolved to fultil hus life’s dreams
2. The newspapers edited by him did not incur money loss
3. The books written by him were usetul

4. Critics still find fault with his views

Options :

686340154805. 1
686340154806. 2
686340154807. 3
686340154808. 4

Question Number : 3 Question Id : 68634039198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 1s
true?

1. Their influence on people was negligible

2. Very few people used to read the newspapers edited by them

3. They were moral in private life but lax in public life

4. They were allowed to edit their newspapers even from inside the jail
Options :
686340154809. 1
686340154810. 2

686340154811. 3
686340154812. 4

Question Number : 4 Question Id : 68634039199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is the general tendency of critics. according to the passage?
1. To find tault with one or the other expression of a writer
2. To price only those writers whom they like
3. To suggest new 1deas to the public
4. To justify their criticism
Options :

686340154813. 1
ARAANTSAR14 2
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686340154815. 3
686340154816. 4

Question Number : 5 Question Id : 68634039200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lokmanya Tilak’s messages were most effective:
1. when he delivered through his editorials
2. betore his imprisonment
3. when he became an informer
4. when he delivered speeches

Options :

686340154817. 1
686340154818. 2
686340154819. 3
686340154820. 4

Question Id : 68634039195 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

The reformer must know that what moves people 1s the authentic life. not mere writing. The newspapers and
journals that Lokmanya Tilak and Gandhij ran the books they wrote. sold little, but had enormous eftect.
Their writing was known to reflect and be just an extension of their exemplary lives. It was the authenticity of
their lives which lent weight to their message, to theiwr example. All knew that their lives were an integral
whole - they were not moral i public life and lax in private. nor vice versa. They were not full of pious
thoughts and sacred resolutions within the walls of a temple and cheats outside.

A writer who 1s merely entertaining his readers. even one who 1s merely informing them. can do what he wants
with the rest of his life. But the writer who sets out to use his pen to reform public life cannot afford such
dualities.

Here 1s the testimony of one great man — Gandhiji — about the influence of another. Lokmanya Tilak: *1
believe that an editor who has anything worth saying and who commands a clientele cannot be easily hushed.
He delivers his finished message as soon as he 1s put under duress. The Lokmanya Spoke more eloquently
from the Mandalay fortress than through the columns of the printed Kesari. His influence was multiplied
thousandfold by his imprisonment and his speech. and his pen had acquired much greater power after he was
discharged than before his imprisonment. By his death we have been editing his paper without pen and speech
through the sacred resolution of the people to realise his life’s dream. He could possibly have done more 1f he
were today in the flesh preaching his view. Critics like me would perhaps be still finding fault in this
expression of his or that, Today his message rules millions of hearts which are determined to raise a permanent

living memorial by the fulfilment of his ambition in their lives.”
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Question Number : 1 Question Id : 68634039196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lokmanya spoke more eloquently from the Mandalay fortress than through the columns of the printed Kesar1,

What 1s the meaning of ‘eloquently’ in the above sentence?
1. announce solemnly
2. Convert in the mtelligible language
3. Language understood by the uneducated mass
4. Clearly expressive

Options :

686340154801. 1
686340154802. 2
686340154803. 3
686340154804. 4

Question Number : 2 Question Id : 68634039197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s the result of Lokmanya Tilak’s exemplary life ?
1. People resolved to fulfil hus life’s dreams
2. The newspapers edited by him did not incur money loss
3. The books written by him were usetul
4. Critics still find fault with his views

Options :

686340154805. 1
686340154806. 2
686340154807. 3
686340154808. 4

Question Number : 3 Question Id : 68634039198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the context of the passage. which of the following statement about Lokmanya Tilak and Mahatma Gandhi 1s
true?

1. Their influence on people was negligible

2. Very tew people used to read the newspapers edited by them

3. They were moral in private life but lax in public life

4. They were allowed to edit their newspapers even from inside the jail
Options :
686340154809. 1
686340154810. 2

686340154811. 3
686340154812. 4

Question Number : 4 Question Id : 68634039199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is the general tendency of critics. according to the passage?

1. To find fault with one or the other expression of a writer
2. To price only those writers whom they like
3. To suggest new 1deas to the public
4. To justify their criticism

Options :

6386340154813. 1

686340154814. 2

686340154815. 3
636340154816. 4

Question Number : 5 Question Id : 68634039200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lokmanya Tilak’s messages were most etfective:
1. when he delivered through his editorials
2. betore his mmprisonment
3. when he became an informer

4. when he delivered speeches

Options :
686340154817. 1
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686340154818. 2
686340154819. 3
686340154820. 4

Sub-Section Number : 2
Sub-Section Id : 6863401290
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634039201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein 1s produced skin milk by coagulation rennet. Soluble calcium 1ons are
required this reaction. Sufficient quantities calcium 1s already present in milk.

1. from. with. for, of
2. from. with. of. for
3. from. in. with. for
4. from. of. for, with

Options :

686340154821. 1
686340154822. 2
686340154823. 3
686340154824. 4

Question Number : 6 Question Id : 68634039201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions from the options given below:

Rennet casein 1s produced skin milk by coagulation rennet. Soluble calcium 1ons are
required this reaction. Sufficient quantities calcium 1s already present in milk.

1. from. with. for. of
2. from. with. of. for
3. from. in. with. for
4. from. of. for. with
Options :
686340154821.
686340154822.

1
2
686340154823, 3
686340154824. 4
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Question Number : 7 Question Id : 68634039202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

LIST I LIST 11
A Plagiarize | I [Disrespectful _
B Dubious  |ILIGift

D [Hamper  |IV.JCopy

Choose the correct answer from the options given below:

1. A-IV, B-II. C-I. D-III
2. A-IIL. B-1, C-IV, D-II
3. A-IV. B-III. C-1. D-II
4. A-1. B-1II. C-IV, D-II

Options :

686340154825. 1
686340154826. 2
686340154827. 3
686340154828. 4

Question Number : 7 Question Id : 68634039202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

LIST I LIST II
A Plagiarize | I [Disrespectful _
B Dubious  |IL[Gift

D [Hamper IV |Copy

Choose the correct answer from the options given below:

1. A-IV. B-II. C-I. D-III
2. A-IIl. B-1. C-IV, D-II
3. A-IV. B-III. C-1. D-II
4. A-1. B-III. C-IV, D-II
Options :
686340154825, 1
686340154826. 2

686340154827. 3
686340154828. 4
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Question Number : 8 Question Id : 68634039203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.

1. The team 1s confident to win the match
2. The team 1s confident of winning the match
3. The team 1s confident of win the match
4. The team 1s confident for winning the match

Options :

686340154829. 1

686340154830. 2

686340154831. 3
686340154832. 4

Question Number : 8 Question Id : 68634039203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the suitable grammatically correct sentence from the given options.
1. The team 1s confident to win the match
2. The team is confident of winning the match

3. The team 1s confident of win the match

4. The team 1s confident for winning the match

Options :

686340154829. 1
686340154830. 2
686340154831. 3
686340154832. 4

Question Number : 9 Question Id : 68634039204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all tume

1. highest
2. high
3. lowest
4. cost

Options :

686340154833. 1
686340154834. 2
686340154835. 3
686340154836. 4

Question Number : 9 Question Id : 68634039204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with appropriate word from the options given below:

The foodgrains stocks in India are at all tume

1. highest

2. high

e

3. lowest

4. cost

Options :

686340154833, 1
686340154834, 2
686340154835. 3
686340154836. 4

Question Number : 10 Question Id : 68634039205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Choose the correct spelling word for:

"A board game in which players buildup words from small size lettered tiles.”
1. Scrablle
2. Scrabble
3. Skrable

4. Scrablee

Options :

686340154837. 1
686340154838. 2
686340154839. 3
686340154840. 4

Question Number : 10 Question Id : 68634039205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelling word for:

"A board game in which players buildup words from small size lettered tiles.”
1. Scrablle
2. Scrabble
3. Skrable

4. Scrablee

Options :

686340154837. 1
686340154838. 2
686340154839. 3
686340154840. 4

Question Number : 11 Question Id : 68634039206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- . 2x | SR -
It Sx+4y =83 and e | ' hen the value of x“-“ 1s:
3y 2

4.4

Options :

686340154841. 1
686340154842. 2
686340154843. 3
686340154844, 4

Question Number : 11 Question Id : 68634039206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o . 2x | N B
It Sx+4y =83 and ;—1 = | ' hen the value of x“-y“ 1s:
3y 2
1. 83
2. 72
3.18
4.4

Options :

686340154841. 1
686340154842. 2
686340154843. 3
686340154844. 4

Question Number : 12 Question Id : 68634039207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 cm. 9 m and 4 m
95 cm.

1.16m
2.95 em
3.65 cm

4.45 cm

Mntinno
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686340154845. 1
686340154846. 2
686340154847. 3
686340154848. 4

Question Number : 12 Question Id : 68634039207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Find the greatest possible length which can be used to measure exactly the lengths 16 m 65 cm. 9 m and 4 m
05 cm.

1.16m

2.95 em

3.65 cm

4.45 cm

Options :

686340154845. 1
686340154846. 2
686340154847. 3
686340154848. 4

Question Number : 13 Question Id : 68634039208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

The average of marks of 15 papers 1s 42. The average of marks of first 8 papers 1s 45 and that of the last 8
papers 1s 36, The marks of gth paper are:

1. 15

4. 18

Options :

686340154849. 1
686340154850. 2
686340154851. 3
686340154852. 4

Question Number : 13 Question Id : 68634039208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The average of marks of 15 papers 1s 42. The average of marks of first 8 papers 1s 45 and that of the last 8
papers is 36. The marks of 8 paper are:

1. 15
2.16

39 )

4. 18

Options :

686340154849. 1
686340154850. 2
686340154851. 3
686340154852. 4

Question Number : 14 Question Id : 68634039209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 1s 3:5. then after
five years the ratio of their ages will be:

1.2:8

o
2

L

Options :

686340154853. 1
686340154854, 2
686340154855. 3
686340154856. 4

Question Number : 14 Question Id : 68634039209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 years ago. the ratio of ages of Vikas and Amish was 1:3. If the ratio of their present ages 1s 3:5. then after
five years the ratio of their ages will be:

-
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Options :

686340154853. 1
686340154854. 2
686340154855. 3
686340154856. 4

Question Number : 15 Question Id : 68634039210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for Z 3.600. Sonu along can do it in 6 days while Monu alone
can do it in 8 days. With the help of Ramu. they finish 1t in 3 days. The share of Ramu (1n Z) will be :

1. 1350
2. 900
3.1200
4. 450

Options :

686340154857. 1
686340154858. 2
686340154859. 3
686340154860. 4

Question Number : 15 Question Id : 68634039210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu undertake to do a piece of work for Z 3.600. Sonu along can do it in 6 days while Monu alone
can do 1t in 8 days. With the help of Ramu. they finish 1t in 3 days. The share of Ramu (in %) will be :

1. 1350
2. 900
3. 1200
4. 450

Options :

686340154857. 1
686340154858. 2
686340154859, 3
686340154860. 4

Question Number : 16 Question Id : 68634039211 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position. what 1s the Nisha's position from the

Muskan’s left side row end?

4,24

Options :

686340154861. 1
686340154862. 2
686340154863. 3
686340154864. 4

Question Number : 16 Question Id : 68634039211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

There are 40 girls in a row. Muskan shifted her position 5 places to her left so that there are 10 girls to her left
i the row. If Nisha was 4 places right to Muskan's original position, what 1s the Nisha's position from the

Muskan’s left side row end?

4.24

Options :

686340154861. 1
686340154862. 2
686340154863. 3
686340154864. 4

Question Number : 17 Question Id : 68634039212 Question Type : MCQ Option Shuftling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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If in a certain code. 15789 1s written as EGKPT and 2436 1s written as ALUR. how 1s 24539 written in that
code?

1. ALGTU
2. ALEUT
3. ALGUT

4. ALGRT

Options :

686340154865. 1
686340154866. 2
686340154867. 3
686340154868. 4

Question Number : 17 Question Id : 68634039212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It in a certain code. 15789 1s written as EGKPT and 2436 1s written as ALUR. how 1s 24539 written in that
code?

1. ALGTU
2. ALEUT
3. ALGUT

4. ALGRT

Options :

686340154865. 1
686340154866. 2
686340154867. 3
686340154868. 4

Question Number : 18 Question Id : 68634039213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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Statements : (1) All leaves are dim.
(11) No dim 1s brush.
(111) All tops are brushes.
Conclusions : I. Some tops are leaves.
I1. Some dim 1s top.
ITI. Some dim 1s leaf.
[V. Some tops are brushes.

Choose the correct option from the following:
1. Only I and II follow
2. Only II and III follow
3. Only III and IV follow

4. Only I and IV follow

Options :

686340154869. 1
686340154870. 2
686340154871. 3
686340154872. 4

Question Number : 18 Question Id : 68634039213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Statements : (1) All leaves are dim.
(11) No dim 1s brush.
(111) All tops are brushes.
Conclusions : I. Some tops are leaves.
I1. Some dim 1s top.
ITI. Some dim 1s leaf.
[V. Some tops are brushes.

Choose the correct option from the following:
1. Only I and II follow
2. Only II and III follow
3. Only III and IV follow

4. Only I and IV follow

Options :

686340154869. 1
686340154870. 2
686340154871. 3
686340154872. 4

Question Number : 19 Question Id : 68634039214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A letter from there matrices can be represented first by its row and then the column number.

Matrix-I
0o 1 2 |3 [4
0 [F Ja [NJo [
1 1 o [F A |N
2 JA [N o1 |F
3 jofF 1 [N [A
4 INJI [AJF Jo
Matrix-II
5 6 1|7 I8 o
5 Is [E [7 |[B |T
6 [H S [E|T [B
7 B T [s [E [H
8 [E [H [T [B |
o |IT s [E [H |B

Identify the correct set for the word FAITH :

1.43.42. 41, 78. 89
2:3Y,34,23, 76, 19
3.24. 31, 10, 59, 57

4. 12. 20. 40. 68. 65

Options :

686340154873. 1
686340154874. 2
686340154875. 3
686340154876. 4

Question Number : 19 Question Id : 68634039214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A letter from there matrices can be represented first by its row and then the column number.

Matrix-I
0o 1 [2 [3 |4
0 |F [A N[O |I
1 1 Jo F Ja N
2 (AN Jof1 [F
3 o |F 1 [N [A
4 [Nt JAJF Jo
Matrix-II
5 e [7 8 [o
S IS E B |t
6 [H S [E|T |B
7 BT [S [E [H
8§ IE [H [T [B |[S
o [T s [E[H |B

Identify the correct set for the word FAITH :
1.43.42.41. 78. 89
2.31,34,23.76.79
3.24. 31, 10. 59, 57

4. 12. 20. 40. 68. 65

Options :

686340154873. 1
686340154874. 2
686340154875. 3
686340154876. 4

Question Number : 20 Question Id : 68634039215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the pair that has the same relationship as the original pair of words given below :

Egg : Omelette
1. Dam : River
2. Student : Classroom
3. Onion : Jam
4. Clay : Pottery

(Ontions :

collegedunia:s
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686340154877. 1
686340154878. 2
686340154879. 3
686340154880. 4

Question Number : 20 Question Id : 68634039215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the pair that has the same relationship as the original pair of words given below :

Egg : Omelette

1. Dam : River

2. Student : Classroom
3. Onion : Jam

4. Clay : Pottery

Options :

686340154877. 1
686340154878. 2
686340154879. 3
686340154880. 4

Question Number : 21 Question Id : 68634039216 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which article of the Indian constitution provides for the institution of Panchayati Ra;?
1. Article 36
2. Article 39
3. Article 40
4. Article 48

Options :

686340154881. 1
686340154882. 2
686340154883. 3
686340154884. 4

Question Number : 21 Question Id : 68634039216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which article of the Indian constitution provides for the institution of Panchayati Ra;?

1. Article 36
2. Article 39
3. Article 40

4. Article 48

Options :

686340154881. 1
686340154882. 2
686340154883. 3
686340154884. 4

Question Number : 22 Question Id : 68634039217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

LIST I (Book Name) LIST II (Author Name
Mahatma Gandhi
' B. [The Broken Wings Indira Gandhi

fy Experiments with Trut
D [Exam Warriors | IV. [Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I. D-II
2. A-III. B-I1. C-1. D-IV
3. A-IL. B-1II. C-1. D-IV
4. A-I1, B-1II, C-IV, D-I

Options :

686340154885. 1
686340154886. 2
686340154887. 3
686340154888. 4

Question Number : 22 Question Id : 68634039217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List I with List I1

LIST I (Book Name) LIST II (Author Name
Mahatma Gandhi
' B. [The Broken Wings Indira Gandhi

fy Experiments with Trut
D [Exam Warriors | IV [Narendra Modi

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I, D-II
2. A-III. B-II. C-1. D-IV
3. A-IL. B-1Il. C-1. D-IV
4. A-I1. B-III, C-IV. D-I

Options :

686340154885. 1
686340154886. 2
686340154887. 3
686340154888. 4

Question Number : 23 Question Id : 68634039218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the first Indian women to win gold in Asian games ?

1. P.T. Usha

2. Shing Wilson
3. Kamaljeet Sandhu
4. Shweta Chaudhary

Options :

686340154889. 1

686340154890. 2

686340154891. 3
686340154892. 4

Question Number : 23 Question Id : 68634039218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Who was the first Indian women to win gold in Asian games ?
1. P.T. Usha

2. Shing Wilson

3. Kamaljeet Sandhu

4. Shweta Chaudhary

Options :

686340154889. 1
686340154890. 2
686340154891. 3
686340154892. 4

Question Number : 24 Question Id : 68634039219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other 15 labelled as Reason R:
Assertion A : Radio waves bend 1in a magnetic field.
Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R i1s the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s true but R is not false

4. A 1s not false but R 1s true

Options :

686340154893. 1
686340154894, 2
686340154895. 3
686340154896. 4

Question Number : 24 Question Id : 68634039219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R:
Assertion A : Radio waves bend in a magnetic field.

Reason R : Radio waves are electromagnetic in nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R 1is not false

4. A 15 not false but R 1s true

Options :

686340154893. 1
686340154894. 2
686340154895. 3
686340154896. 4

Question Number : 25 Question 1d : 68634039220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements:

Statement I : Dolamite 1s used as refractory material and flux in iron and steel industry.

Statement II : Lignite and low grade bituminous coal were formed during the quaternary period.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II 1s incorrect

4. Statement I 1s incorrect but Statement I 1s correct

Options :

686340154897. 1
686340154898. 2
686340154899. 3
686340154900. 4

Question Number : 25 Question Id : 68634039220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Give below are two statements:

Statement I : Dolamaite 1s used as refractory material and flux in iron and steel industry.

Statement II : Lignite and low grade bituminous coal were tormed during the quaternary period.

In the light of the above statements. choose the meost appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement Il 1s incorrect

4. Statement I 1s incorrect but Statement II 1s correct

Options :

686340154897. 1
686340154898. 2
686340154899. 3
686340154900. 4

Part B: Philosophy

Section Id : 686340772
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : i
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : |
Sub-Section Id : 6863401291
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634039221 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which theory says that "Everything 1s as it seems or appears to a man. does not amount to that".
1. Pythagoras
2. Protagoras
3. Evolution
4. Causality
Options :

686340154901. 1
686340154902. 2
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686340154903. 3
686340154904. 4

Question Number : 26 Question Id : 68634039221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Frefafea O 9 fow gid &1 9d § fe I 9% 98 § 941 98 Udid sidl & a1 fidl aufad & gue Udbe
Bldl 6. 98 9P e ol aldl © I”

1. OIS UTTIRY

3. [dHg
4. PRUME]

Options :

686340154901. 1
686340154902. 2
686340154903. 3
686340154904. 4

Question Number : 27 Question Id : 68634039222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
'Transcendental Idealism' 1s the theory of
1. Kant
2. Berkeley
3. Hume
4. Mill

Options :

686340154905. 1
686340154906. 2
686340154907. 3
686340154908. 4

Question Number : 27 Question Id : 68634039222 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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TS Temare Fefafed § 3 fege Rigia g 2
1. BIc
2. g6

3.e4H
4. foq

Options :

686340154905. 1
686340154906. 2
686340154907. 3
686340154908. 4

Question Number : 28 Question Id : 68634039223 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Greek word "Ousia” means
1. Substance
2. Attributes
3. Mode
4. Spirit
Options :
6863401549009, 1
686340154910. 2

686340154911. 3
686340154912. 4

Question Number : 28 Question Id : 68634039223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

g1 Wsg SARYAT &1 319> B:
1. gary
2.9
3. 941G

4. ATHI

Options :
ARAANTSAQNO 1
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686340154910. 2
686340154911. 3
686340154912. 4

Question Number : 29 Question 1d : 68634039224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who says that "Substance means particular things of that kind"?

1. Plato
2. Anstotle
3. Spmoza

4. Leibniz

Options :

686340154913. 1
686340154914. 2
686340154915. 3
686340154916. 4

Question Number : 29 Question 1d : 68634039224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa 4 T foas oer @ & uerd o e 33t yoR 3t fafky axgafi 4 8 »
1. Tiel

3. [
4. g

Options :

686340154913. 1
686340154914. 2
686340154915. 3
686340154916. 4

Question Number : 30 Question Id : 68634039225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which sacred book of India 1s generally believed to be the earliest literacy record of the Indo-European race?
1. Vedas
2. Upanishads
3. Puranas

4. Jataka-Katha

Options :

686340154917. 1
686340154918. 2
686340154919. 3
686340154920. 4

Question Number : 30 Question Id : 68634039225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd & fog ufdz Jy &1 gmrga: YRAO-TRINT Sifd & wrEi-ad Sifefde sifiere & & § OF 9l @

1.dg
2. 3UfAYg

3. qRI0T

4. vllddh-h Y]

Options :

686340154917. 1
686340154918. 2
686340154919. 3
686340154920. 4

Question Number : 31 Question Id : 68634039226 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which Veda deals almost exclusively with the higher gods as conceived by a comparatively advanced and
refined sacred class?

1. RgVeda
2. Samaveda
3. Yajurveda

4. Atharvaveda

(Ontions :
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686340154921. 1
686340154922, 2
686340154923. 3
686340154924. 4

Question Number : 31 Question Id : 68634039226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁ%?ﬂﬁ@'aﬁqm&qaodd Joa-Td® ¥49 9§ 3I9d U4 URspd QRIS a7l gR1 YR {60 710 iRARGR 9
qeiUd g 2

1. 3B7dq

2. grHdq

3. 99dg
4. fYdde

Options :

686340154921. 1
686340154922, 2
686340154923. 3
686340154924, 4

Question Number : 32 Question Id : 68634039227 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which sacred book 1s written in prose form, and explain the sacred significance of the different rituals?
1. Vedas
2. Upanishads
3. Brahmanas

4. Samhaitas

Options :

686340154925. 1
686340154926. 2
686340154927. 3
686340154928. 4

Question Number : 32 Question Id : 68634039227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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?ﬁﬁiﬁ?ﬂﬁ@fﬂﬂmqﬁaﬁuﬂmﬁmw%amwﬁﬁfﬂﬂ ST B Heddl B AR DI T

1.dg

Ll

4. dledl

Options :

686340154925. 1
686340154926. 2
686340154927. 3
686340154928. 4

Question Number : 33 Question Id : 68634039228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which Vedic hymns are neither the productions of a single hand nor do they probably belong to any single
age”

1. Rgveda
2. Samaveda
3. Yajurveda

4. Atharvaveda

Options :

686340154929. 1
686340154930. 2
686340154931. 3
686340154932, 4

Question Number : 33 Question Id : 68634039228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

T —

collegedunia:

India’s largest Student Review Platform



?ﬂﬁiﬁ?ﬁﬁ%ﬁ?@ﬁ@ W 9 d1 fiod U 31 I9910 § SR Gyad: 7 81 d fidl ue e 9 gafdd

1. 3Bidg
2. giHdg

3. 49dg
4. Yddq

Options :

686340154929. 1
686340154930. 2
686340154931. 3
686340154932. 4

Question Number : 34 Question Id : 68634039229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who says that "Perception of all properties 1s dependent on the brain™?

1. Plato
2. Arnistotle
3. Descartes
4. Schopenhauer

Options :

636340154933. 1

686340154934. 2

686340154935. 3
686340154936. 4

Question Number : 34 Question Id : 68634039229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

FrfafEa 5 9 feua oer © & @t uresf &1 ugemr afirss R AR sRar g
1. Wil
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Options :

686340154933. 1
686340154934. 2
686340154935. 3
686340154936. 4

Question Number : 35 Question Id : 68634039230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

*‘

Which Upanishad shows the directions for meditating upon the dawn as the head of the horse instead of the
actual performance of the horse sacrifice?

1. Mandukya

2. Brhadaranyaka

3. Katha

4. Kena

Options :

686340154937. 1
686340154938. 2
686340154939. 3
686340154940. 4

Question Number : 35 Question Id : 68634039230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3I%4-afdl & IRafa® U & Sod 3%d & [RR &1 INdTd | &F &1 (Hex Fefaaa d 9 fag 3ufug
U yeH fearmare 2

1. HIgad

3.P0
4. P

Options :

686340154937. 1
686340154938. 2
686340154939. 3
686340154940. 4

Question Number : 36 Question Id : 68634039231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
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In the Kathopamishad. who says that "a fool who 1s blinded with the infatuation of riches does not believe in a

future life"?

1. Yaksa

rJ

. Rs"1
3. Yama

4. God

Options :

686340154941. 1
686340154942. 2
686340154943, 3
686340154944, 4

Question Number : 36 Question Id : 68634039231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

H319Ng H fbg- dgl f U gu. o iR 9gfe &t IHig= &1 3160 UST &, 399 Hias & oifa=

[g9arg el sidr 2"

1. O&
2. B
3.99

4. 3TN

Options :

686340154941, 1
686340154942, 2
686340154943, 3
686340154944, 4

Question Number : 37 Question Id : 68634039232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Which Religion states that final extinction of sorrows takes place as the natural result of the destruction of
desires?

1. Buddhism

rJ

. Jamnism
3. Samkhya

4. Vedanta

Options :

686340154945. 1
686340154946. 2
686340154947 3
686340154948. 4

Question Number : 37 Question Id : 68634039232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁ%@ﬂﬁémuﬁﬁus S ¢ b sifay gra-fqdiy ot gaiied em=1 & A9iie qaii 3 8 gidn

1. Sigud
2. ogYH
3. R
4. daT=d
Options :
686340154945. 1
686340154946. 2

686340154947. 3
686340154948. 4

Question Number : 38 Question Id : 68634039233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who asserted that the self 1s indestructible and eternal?

1. Vedas

J

. Samhaitas
3. Puranas

4. Upanishads
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Options :

686340154949. 1
686340154950. 2
686340154951. 3
686340154952. 4

Question Number : 38 Question Id : 68634039233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
F=faRad 4 9 feadt arar g fb Sirer 3%ar Ud YRad § 2
1. dg

4. 3UfAug

Options :

686340154949. 1
686340154950. 2
686340154951. 3
686340154952. 4

Question Number : 39 Question 1d : 68634039234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the concepts below stands for all established ways of living-secular, moral and religious?

1. Rta

)

. Rna

3. Karma

4. Dharma

Options :

686340154953. 1
686340154954. 2
686340154955. 3
686340154956. 4

Question Number : 39 Question Id : 68634039234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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FAfaRed & 9 St Goed oiig & 9 wiftg alie! - difes, e iR uftfe 3 9afia g
1. Bd
2.0
3. %Y
4.4

Options :

686340154953. 1
686340154954. 2
686340154955. 3
686340154956. 4

Question Number : 40 Question Id : 68634039235 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Everything changes from moment to moment 1s known as -
1. Pratitya-Samut-Pada
2. Satkarya-Vada
3. Ksanika-Vada
4. Nirvana

Options :

686340154957. 1
686340154938. 2
686340154939. 3
686340154960. 4

Question Number : 40 Question Id : 68634039235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

94-$0 Ya-Ufaua gikafdd sidr 8. 38 &gl oiidl &:
1. UdIg-SH TG
2. geh1darg
3. &fOrhdrg
4. Frator

Options :
686340154957. 1
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686340154938. 2
686340154959. 3
686340154960. 4

Question Number : 41 Question Id : 68634039236 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Which Religion says. "If all things in the world are transient and unsubstantial our endeavours to secure any of
them for ourselves or for others must be labour wholly lost"?

1. Buddhism
2. Jamism

3. Yoga

4. Mimamsa

Options :

686340154961. 1
686340154962. 2
686340154963. 3
686340154964. 4

Question Number : 41 Question Id : 68634039236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopg ot &1 1d © b afe JIR 1 it axql s ud sifdd 8. A g & U g1 i & fau 399 9
fapit o1 4t YRI&T B BT HRT Wa JUId: g g

1. Slsyd

2.9 4

3. g1

4. HHE
Options :
686340154961. 1
686340154962. 2

6386340154963. 3
686340154964. 4

Question Number : 42 Question Id : 68634039237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
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Who says. "Eudaimomnia 1s the highest good attainable by man".

1. Plato
2. Anistotle
3. Socrates

4. Immanuel Kant

Options :

686340154965. 1
686340154966. 2
686340154967. 3
686340154968. 4

Question Number : 42 Question Id : 68634039237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Fefafed 4 9 feus Y= 8 e, »rayare 999 gR1 3fold Saag gu e 1"
1. |l

2. IRE]

3. GBI

4. SHIUA @IC

Options :

686340154965. 1
686340154966. 2
686340154967. 3
686340154968. 4

Question Number : 43 Question Id : 68634039238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who deliberated "Virtue' as the basic ethical concept articulated through justice. courage and self-control?
1. Plato
2. Anistotle
3. Socrates

4. Hobbes

Options :
686340154969. 1

-
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686340154970. 2
686340154971. 3
686340154972. 4

Question Number : 43 Question Id : 68634039238 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F=fafed O 9 g geiur &1 U, 98y 3R d-Hdau grR1 3=ikd gayd Afde e sy i
foaR-fams foar ur -

1. il
2. IRE]

3. gPIa

4. Bleg

Options :

686340154969. 1
686340154970. 2
686340154971. 3
686340154972. 4

Question Number : 44 Question Id : 68634039239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who believed that the measure of the correctness of human behaviour should be the usefulness of its effects?
1. . S. Mill
2. Immanuel Kant
3. Jacob Hume
4. Aristotle

Options :

686340154973. 1
686340154974. 2
686340154975. 3
686340154976. 4

Question Number : 44 Question Id : 68634039239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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F=fafad 4 9 feast 1d 8 & Ad sadeR &t Ysdl &1 HIYA 59 WHd & fau Iyt g1 =ifeu 2
1. 91, TY. fHd

2. SHFTA @le

3. Sl §UH

4. IRE

Options :

686340154973. 1
686340154974. 2
686340154975. 3
686340154976. 4

Question Number : 45 Question Id : 68634039240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who says that "Work plays an important role in human hife. thanks to which he can satisty his needs"?

1.J. S. Mill

2. Immanuel Kant
3. H. Kollataj

4. Arnistotle

Options :

686340154977. 1
686340154978. 2
686340154979. 3
686340154980. 4

Question Number : 45 Question Id : 68634039240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepaep1 By g fob. *d1d T4 Sita- 8 gg@yul YfHeT FAurdr 8. 39 forw Yfsbar f& ag 399 sl
HaRgEH Tl @1 gfd &R gadl 8"

1. 9. 0. fid

2. SHIFUA Pl

3. U9, Picadla

4. 3RE]
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Options :

686340154977. 1
686340154978. 2
686340154979. 3
686340154980. 4

Question Number : 46 Question Id : 68634039241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who assumed that "Things in themselves are neither good nor bad"?

1. Plato
2. Anistotle
3. Spinoza

4. Socrates

Options :

686340154981. 1
686340154982. 2
686340154983. 3
686340154984, 4

Question Number : 46 Question Id : 68634039241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t O 9 feoust oa 1 . "axqu 3= Mg 8 = a1 331 8ldl & AR T 81 g™
1. Wil

3. fegien

4. gPXId

Options :

686340154981. 1
686340154982, 2
686340154983. 3
686340154984, 4

Question Number : 47 Question Id : 68634039242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Who says that "Virtue does not depend solely on reason. but is based on the order and harmony of the soul"?

1. Plato

2. Anistotle

3. Socrates

4. Spmnoza
Options :
686340154985. 1
686340154986, 2

686340154987. 3
636340154988. 4

Question Number : 47 Question Id : 68634039242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬂmﬁm%ﬁi_ HEIUT 3l ad IR FHR 781 $Ral 5. SHfUq el H = 3R fd W sneia gian

1. el

2. IRE]

3. PRI
4. TS

Options :

686340154985. 1
686340154986. 2
686340154987. 3
686340154988. 4

Question Number : 48 Question Id : 68634039243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which ethics 1s divided into Axiology and de-ontology?
1. Normative ethics
2. Environmental ethics
3. Bio-ethics

4. Professional ethics

Options :

-
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6863401549389. 1
686340154990. 2
686340154991. 3
686340154992. 4

Question Number : 48 Question Id : 68634039243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fefafad 4 9 19 91 o Geadiaia iR SdoavRd 4 fauiford g 2
1. o Hifaera
2. qgtaRuiig i
3. SH-Alfara
4. AP AR

Options :

68634015498%9. 1
686340154990. 2
686340154991. 3
686340154992, 4

Question Number : 49 Question Id : 68634039244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which ethics 1s an ethical reflection on practical problems and attempts to solve them thanks to the tools used?
1. Social Ethics
2. Work Ethics
3. Applied Ethics

4. Bio-ethics

Options :

686340154993, 1
686340154994, 2
686340154995. 3
686340154996. 4

Question Number : 49 Question Id : 68634039244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Fe=fefad O 9 o119 91 Hifdwa sgasie Iawrs iR 36 U & YAl 8 e 9=l &
Hifque ufafdaq g 2

1. AT I
2. 1Y Hifaurd
3. AHTIgEd HifdRRd
4. Sa-AifduRa

Options :

686340154993. 1
686340154994, 2
686340154995. 3
686340154996. 4

Question Number : 50 Question Id : 68634039245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which argument 1s mainly concerned about the Validity / Invalidity of the arguments?

1. Deductive
2. Inductive
3. Hypothetical
4. Symbolic

Options :

686340154997. 1

686340154998. 2

686340154999. 3
686340155000. 4

Question Number : 50 Question Id : 68634039245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfgasit &1 duansidyar I Jefda gida gera: Fefaf@d § o 8 2
1. TS
2. AMTHATHD

3. gcaltyd
4. UdipTHD
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Options :

686340154997. 1
686340154998. 2
686340154999. 3
686340155000. 4

Question Number : 51 Question Id : 68634039246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which form of logic 1s mainly concerned about the truth/falsity of the propositions in an argument?
1. Deductive
2. Inductive
3. Symbolic
4. Hypothetical

Options :

686340155001. 1
686340155002. 2
686340155003. 3
686340155004. 4

Question Number : 51 Question Id : 68634039246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yiasierl 1 g&ad: Iaar3aad § Jefvd AEfafea g d s ards g 2

MGUEEIEEY

2. ANTHAIHD

R GICAREE

4. ganyd

Options :

686340155001. 1
686340155002. 2
686340155003. 3
686340155004. 4

Question Number : 52 Question Id : 68634039247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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What are the attributes of individual propositions?
1. Validity and Invalidity
2. Truth and Falsehood
3. Quality and Quantity

4. Unmiversal and Particular

Options :

686340155005. 1
686340155006. 2
686340155007. 3
686340155008. 4

Question Number : 52 Question Id : 68634039247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
fy® ufagftaal & oo Feffea § s 8
1. AYdT 3R e
2. AT 3R g
3. T[0T 3R gRET0
4. gdoaTdt 3R 3{reardt

Options :

686340155005. 1
686340155006. 2
686340155007. 3
686340155008. 4

Question Number : S3 Question Id : 68634039248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 15 a collection of entities having same common characteristics called?
1. Genus
2. Species
3. Dafferentia

4. Substance

Options :
6863401550009. 1
ARAANTSANTN )
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686340155011. 3
686340155012. 4

Question Number : 53 Question Id : 68634039248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U GHH AFHE0T arell aeg3fl BT U8 T Hodldl 6 2
1. SIIid

2. IUalfg

3. d=cD

4. Toguaery

Options :

6863401550009. 1
686340155010. 2
686340155011. 3
686340155012. 4

Question Number : 5S4 Question Id : 68634039249 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fallacy occurs when middle term is not distributed in any of the premises in an argument?
1. Missing the point
2. The red herring
3. Hasty generalization

4. Undistributed middle

Options :

686340155013. 1
686340155014. 2
686340155015. 3
686340155016. 4

Question Number : 54 Question Id : 68634039249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e fareit gfad @ fopadt off oo areg & HegqUS oarwd -To! oidl ¢ ol dIF 91 a® &l S~ oidl § 2
1. [T g @g=
2.3 Bi
3. ARG HHIHRU]

4. 3T B/ HEH a1

Options :

686340155013. 1
686340155014. 2
686340155015. 3
686340155016. 4

Question Number : 55 Question Id : 68634039250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s that logical relationship where one proposition is the denial of the other proposition. they can't both be
true and can't both be false?

1. Contrary
2. Sub-contrary
3. Sub-altern

4. Contradictories

Options :

686340155017. 1
686340155018. 2
686340155019. 3
686340155020. 4

Question Number : 55 Question Id : 68634039250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ag dIfdh® YaY &1 § oTel U a9l gasl WSl &1 PR §. d &l 9d -Tol o1 9@d & adl &l 9™
Tol ol Thd g ?

M CENG]
2. AT
3. 3Urigd

4. TTHTA

Options :

686340155017. 1
686340155018. 2
686340155019. 3
686340155020. 4

Question Number : 56 Question Id : 68634039251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many premises does arguments of confirmation have?

L&
2.4
3.3

4.3

Options :

686340155021. 1
686340155022. 2
686340155023. 3
686340155024. 4

Question Number : 56 Question Id : 68634039251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy &1 gfdadi § fbd SMURAEI 8Id 8 2
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686340155021. 1
686340155022. 2
686340155023. 3
686340155024. 4

Question Number : 57 Question Id : 68634039252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What's the goal of testing hypothesis in critical thinking?

1. To eliminate false hypothesis

|

. To support false hypothesis
3. To eliminate true hypothesis
4. To support true hypothesis

Options :

686340155025. 1
686340155026. 2
686340155027. 3
686340155028. 4

Question Number : 57 Question Id : 68634039252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt fide O Uas g1 US&U ST e |8 2

1. T vrgd g1 &1 fadig &A1

2. firear yieh g1 31 99U HA]

3. I UIad 941 &1 f[adig H31

4. T UIFH 91 BT JaUF HA]

Options :

686340155025. 1
686340155026. 2
686340155027. 3
686340155028. 4

Question Number : 58 Question Id : 68634039253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Who observed but did not predict a solar eclipse in Greek Philosophy?

1. Plato
2. Anistotle
3. Socrates

4. Thales

Options :

686340155029. 1
686340155030. 2
686340155031. 3
686340155032. 4

Question Number : 58 Question Id : 68634039253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

AT 2RF ¥ e gausu @1 sfaareH fdar ot faemq Hiasaarft 7g] ot ot 2
1. @iel

2. IRE]
3. IR

4. U

Options :

686340155029. 1
686340155030. 2
686340155031. 3
686340155032. 4

Question Number : 59 Question Id : 68634039254 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Which of the following statements 1s true of Aristotle?

1. Justice can be best delivered only when an individual retlects and acts according to an unconditional
reasoning.

2. Justice can be best delivered when an individual acts virtuously with prudence according to the situation
avoiding extreme positions.

3. Justice can be best delivered only when practical aspects of individual's interest 1s taken into account.

-
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Options :

686340155033. 1
686340155034. 2
686340155035. 3
686340155036. 4

Question Number : 59 Question Id : 68634039254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
R P el d FefefRad I s T ey wei g2

1. A1 dad a4l Fatad &7 9 UaH fbd1 ol §ahdl & o Blg odfad Yckied dbull & S8R fHa ud
B PRATE |

2. 1Y Yarad &7 ¥ ad oyl UM a1 o1 9&dl & od &g Afad @RH [RUfG T 991 & e &
IR fadeantd §=ia S Bl § |

3.mmgalﬂﬂﬁﬁﬂénémmwwm%wmmas%ﬁasms:ﬁmq&fmmm
TG IS |

4. 10 Had S S gRI Y&H a1 &1 §Hhar g |

Options :
686340155033. 1
686340155034, 2

686340155035. 3
686340155036. 4

Question Number : 60 Question Id : 68634039255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is true of B. R. Ambedkar?

1. Ambedkar was critical of pragmatism and took up Buddhism as an alternative Philosophy to pragmatism.

e

). Ambedkar blended Buddhism with Sanatan Hinduism to gain his political goal.

3. Ambedkar embraced Buddhism. but at the same time refused to accept Karma theory as traditionally
accepted.

4. Ambedkar's Navayana Buddhism 1s almost similar to Ajivika Philosophy of critical skepticism.

Options :

686340155037. 1
686340155038. 2
686340155039. 3
686340155040. 4

Question Number : 60 Question Id : 686340392355 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1

&, AR, igs & ded § Al R{a i AP Ty 98l 8 2

1. A4SHR AGeIRFAAE & AaaD 4 dUT 611 AGeIREHdIdE & dbicdd g+ & &9 J dlgad
WIPR fHar o |

2. HASHR A 3G AP A&H Pl WK B P AU FlGHd Bl GG fegd & a1y JHd fovar ot
|

3. JfaSHR A digHd PR fdar u1. fo=q 34 g uRUR® ¥4 4 Wierd $d-Rigid o WieR
P Y SHR B [ST1 U7 |

4. JASHR P1 TGUM SIGHd THT GFA1E P HgdQUl 3Teiias <X & FHA S |

Options :

686340155037. 1
686340155038. 2
686340155039. 3
686340155040. 4

Question Number : 61 Question Id : 68634039256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Philosopher used the term "Arche” which means 'a ruling principle'’. in Greek Philosophy?
1. Anaximander
2. Thales
3. Confusious
4. Aristotle

Options :

686340155041. 1
686340155042. 2
686340155043. 3
686340155044. 4

Question Number : 61 Question Id : 68634039256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A 2% ¥ o erifAe 7 em (enfedd) ge &1 war farar ur forga s e Rigia 8 2

1. GHIFoIH S
2. U

4. IRF

Options :

686340155041. 1
686340155042. 2
686340155043. 3
686340155044. 4

Question Number : 62 Question Id : 68634039257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Plato. the idea of justice can be conceived only through the process of
1. Dialectics
2. Historical Construction
3. Blending the deductive and inductive reasoning

4. Hermeneutics

Options :

686340155045. 1
686340155046. 2
686340155047. 3
686340155048. 4

Question Number : 62 Question Id : 68634039257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wicl & THR. 1 & f[daR Sad FefiiRad ufear gr1 sfedd favar o gl &:
1. AhIde (TR
2. Ui = ()
3. FITHATE® U4 IMTHATES U & Iy
4. QRATHHTE

Options :
ARAIANTRESNAKS 1
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686340155046. 2
686340155047. 3
686340155048. 4

Question Number : 63 Question Id : 68634039258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Protagoras.
1. Truth can be ascertamed only through human reasoning.
2. Man 1s the measure of all things.
3. Life can be measured only through collective decision.
4. Reality 1s beyond the domain of human enterprise.
Options :
686340155049. 1
686340155050. 2

686340155051. 3
686340155052. 4

Question Number : 63 Question Id : 68634039258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THSTRY & IR,
1. 9 Had HHa dbull & gRT AUAREd fear sn el g
2. B gt o 3if 1 9arT 8
3. ©ila 1 dad Ffed U gR1 A9 o Jahdl 8
4. QYN AFAITH S AT W B

Options :

686340155049. 1
686340155050. 2
686340155051. 3
686340155052. 4

Question Number : 64 Question Id : 68634039259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Who highlighted that 'the main forms assumed by air as a result of condensation and rarefaction'?

1. Anaximenes

2. Hippolytus
3. Theophrastus

4. Thales

Options :

686340155053. 1
686340155054. 2
686340155055. 3
686340155056. 4

Question Number : 64 Question Id : 68634039259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrfafad | 9 feg- J@ifed & e, arg gR1 7781 g3 9 9994 3R faved & gRummas=u g2
1. GRIFolH S
2. femifered
3. g Rey
4. 4

Options :

686340155053. 1
686340155054, 2
686340155035. 3
686340155056. 4

Question Number : 65 Question Id : 68634039260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1
Who defines 'a subject as that of which other things are predicated but not itself predicted of anything else'?
1. Plato
2. Arnistotle
3. Zeno

4. Socrates

Options :
686340155057. 1
ARAANTSANSR )
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6863401550359. 3
686340155060. 4

Question Number : 65 Question Id : 68634039260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F=fafad 4 9 feg- afkuita fear 4, ue fawa o aR 3 s a1d gauiia € foq ag wd fed
39 &1 qar4iRd el 82

1. el

2. 3RE]
3. Gl

4. GBI

Options :

686340155057. 1
6863401550358. 2
6863401550359. 3
686340155060. 4

Question Number : 66 Question Id : 68634039261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Carvaka 1s a Materialist.

Reason R : Carvaka accepts that perception 1s the only valid means of knowledge.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A 1s not correct but R 1s correct.

Options :

686340155061. 1
686340155062. 2
686340155063. 3
686340155064. 4

Question Number : 66 Question Id : 68634039261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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?ﬁﬁ?ﬁ$ﬂ?ﬁmﬂu% Udp AHHBYF (Assertion A) %Wﬁﬁf@ﬂ%?ﬁmmm (Reason R) G
IqH:

JfHHYT A - Iraie Hifddparct § |

PRUIR : I1a1P g HHd & [P I ST aY I YA TH © |

SWRIad PYF & @D H, 71 3T 7T [dh el § ¥ 969 Iugad Itk &I 99 BT |
1. ATYT R SFI Tl § dUTR. A DI Hg1 ARAT
2. ATYI R 1 Tgl 8. difd-1 R. A I Hel AR gl ©
3. AR § Afd1 R el 751 ©
4. A el 7ol § AfbT R el B

Options :

686340155061. 1
686340155062. 2
686340155063. 3
686340155064. 4

Question Number : 67 Question 1d : 68634039262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Ontological concepts are totally different from metaphysical concepts.

Reason R : Ontological concepts deal with actual existential beings, where as metaphysical concept deals with
both existential and non-existential Realities.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A 1s not correct but R 1s correct.

Options :

686340155065. 1
686340155066. 2
686340155067. 3
686340155068. 4

Question Number : 67 Question Id : 68634039262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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:ﬁﬁé’l Cb‘?-{'iﬁ'QTl'E{%i U AHHBYA (Assertion A)%quf NIEER %Fﬁmmm(fkasm} R)aﬂ_
o4 H:

HUDYF A - FAHHRIG GHegAl TadHi™ig GoHed-134 J guld: f=1 g |

HRUIR : FAHHRT YHeg-1d aRdfd® ATaRe 9d 9 S6lUd gidl 8. afd dadiiiy Gheg-m
IR Ud TR-3MKT@RD gurd i1 4 YU gidl 6 |

SWRIGd PYF & 3Taid H, =i 13U 7Y f[adhedl # I 969 Iugad IR BT I BT |

1. ATYT R I U6l § dUTR, A I Hol Ur=AT §

2. ATYT R I TEl §. Wi R. A Pl Ul oIRAT el &
3. ATRI g AP R TGS TR 8

4. AEI T8I § i1 R WEl 8

Options :

686340155065. 1
686340155066. 2
686340155067. 3
686340155068. 4

Question Number : 68 Question Id : 68634039263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other 1s labelled as Reason R :

Assertion A : In the concept of mind. Gilbert Ryle maintains that the distinction between the mind and the
body 1s one of category.

Reason R : Gilbert Ryle 1s a dualistic philosopher.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A 1s not correct but R 1s correct.

Options :

686340155069. 1
686340155070. 2
686340155071. 3
686340155072. 4

Question Number : 68 Question Id : 68634039263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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CIEE Cb'lHﬁ'QTIT{%: Udh AHHHYT (Assertion A) %Wﬁ%@ﬁ%?ﬁm@ai PIRUl (Reason R) el

IO H:

grmcﬁu—: A : fiese I5d 98 YRIMUd DRd § fob 99 Yhed1 § 549 3R Il & did [dUg U Dife o
|

PRI R : flesc 50 TP gaard] qRifA® € |

SWRIGd Y & 3fdld H, 71 S0 MU f[adhedl # ¥ 969 Iugdd IR B 99 DI |

1. ATYT R GHI 9ol § dUTR. A P! Hgl AT §

2. ATYT R GHI Tgl §. A R. A Pl He! SO ol ©
3. AR g AfpT R Tt T ©

4. ATEI TSI g BT R BT &

Options :

6863401550609. 1
686340155070. 2
686340155071. 3
686340155072. 4

Question Number : 69 Question Id : 68634039264 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Buddhists believe in Astanga-Margas.

Reason R : Yama. Niyama. Asana. Pranayama. Dhyana. Dharana. Pratyahara and Samadhi are Buddhist
Astanga margas.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct but R 1s NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A 1s not correct but R 1s correct.

Options :

686340155073. 1
686340155074. 2
686340155075. 3
686340155076. 4

Question Number : 69 Question Id : 68634039264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B q’ﬂ'ﬁmwgi Udp HHHYA (Assertion A) %Wﬁﬁ@ﬁ%?ﬁ@ﬂmm(fkawn R)$
SO H:

AfHHYT A - S AT AN & HAD o |

PRUR - 99, [A99. 19, UI0mamE. &9H. YR, YRR 3R 91 a9l P ari ¢ |

SWRIFd BY P 3faie H, i ST 70 f[ah el H I 969 Iugad 3R &1 994 Difoig |
1. ATYI R GHI g6l § dYTR. A P! Hel AR ©
2. ATYTR GHi ¥el §. Wi+ R. A I Hol URAT T8l ©
3.ATSI e AfFTR TE A8 @
4. AG!I Tgl & AP R Tl §

Options :

686340155073. 1
686340155074. 2
686340155075. 3
686340155076. 4

Question Number : 70 Question Id : 68634039265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a gross elements?

A. Water
B. Arr
C. Spirit
D. Earth
E. Fire

Choose the correct answer from the option given below :
1. A only
2. B only
3. D only

4. C only

Options :

686340155077. 1
686340155078. 2
686340155079. 3
686340155080. 4

Question Number : 70 Question Id : 68634039265 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T d S RE da S A 61 8

A vl

B. A1
C. AT

D. gl
E. 3=

1 f&g U fapeul § 999 SUgad IR &1 994 BT |

.B..J

1. 94t A

7

.8..-"

dcli B

3. HddA D

4. HadAC

Options :

686340155077. 1
686340155078. 2
686340155079. 3
686340155080. 4

Question Number : 71 Question Id : 68634039266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a categorical proposition?

A. 'A' Proposition
B. 'E' Proposition
C. 'T' Proposition
D. 'O’ Proposition
E. 'U' Proposition

—_—
[ P

Choose the correct answer from the option given below :
1. E only
2. A and B only
3. C only

4. D and E only

Options :

686340155081. 1
686340155082. 2
686340155083. 3
686340155084, 4
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Question Number : 71 Question Id : 68634039266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ufagfa Fefafa I s @ =& e 2
A.'A' Hfasifa
B.
C. T Uiaiw
D.
E.

3. Had C

4. HAAD IR E

Options :

686340155081. 1
686340155082. 2
686340155083. 3
686340155084. 4

Question Number : 72 Question Id : 68634039267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who wrote the "Vedas'?

A. Parashara
B. Vyasadeva
C. Balmiki

D. Parshurama

Choose the correct answer from the option given below :
1. A only
2. B only
3. C only

4. D only

Options :

686340155085. 1
686340155086. 2
686340155087. 3
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686340155088. 4

Question Number : 72 Question Id : 68634039267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qgl @I g1 fbg- ot ot 2

A TRER
B. 1824
C. dicHlD

D. IRR™
1 &g U fa el & 9ad Iugad 3R &1 994 Difod |

1. $dd A
2. $Hdd B
3. Pdd C

4. PaAD

Options :

686340155085. 1
686340155086. 2
686340155087. 3
686340155088. 4

Question Number : 73 Question Id : 68634039268 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chronological order of the Vedas are -

A. Atharva veda
B. Rg veda

C. Sama veda
D. Yajur veda

Choose the correct answer from the option given below :

1A B, C, D

2. C,A. B D
3.8, C, DA

4.D.B.A.C

Options :
686340155089. 1
686340155090. 2
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686340155091. 3
686340155092. 4

Question Number : 73 Question Id : 68634039268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

da| &l BT o:

A. 3Yddg

B. Bidq
C. grHag

D. A9ag

i f&d 71U fa el O Sad Iugad 3R &1 9949 BifolU |

1.A; B, C.D

2. C,ABD
3.B.C.D.A

4.D.B.A.C

Options :

686340155089. 1
686340155090. 2
686340155091. 3
686340155092. 4

Question Number : 74 Question Id : 68634039269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The order of the Nyaya Pramanas are -

A. Upamana
B. Sabda

C. Anumana
D. Pratyaksa

Choose the correct answer from the option given below :

1. C, DA B
2. B, C.D;A
3:A88B.C.D
4.D.C.A.B

Options :
686340155093. 1
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686340155094. 2
686340155095. 3
686340155096. 4

Question Number : 74 Question Id : 68634039269 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=71g YHIUT 1 3hH &

A, JYUHIH
B. s

C. 3HH
D. T8

14 8 71U f[dp ol § S99 Iugad 3R &1 999 Il |

1.C,D.A.B

2.B,C.D. A
3.A.B,C.D

4.D.C.A.B

Options :

686340155093. 1
686340155094, 2
686340155095. 3
686340155096. 4

Question Number : 75 Question Id : 68634039270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The order of four noble truths m Buddhism are -

A. Duhkha - Nirodha - Marga
B. Duhkha

C. Duhkha nirodha

D. Duhkha Samudaya

Choose the correct answer from the option given below :

1. CA DB
2:B, D, C;A
3.0 B,C.D

4. D.C.B.A

Options :
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686340155097. 1
686340155098. 2
686340155099. 3
686340155100. 4

Question Number : 75 Question Id : 68634039270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dlayH & IR AT BT 3HH o

A. §E-FRIY-grt
B.5:d

C. 5™ R

D. 9 9Hc[

=14 &0 70 faeedl & 9ol 3Ok &1 994 & |

1.C,A.D.B

2.B,D,C, A

3.A,B,C.,D

4.D.C.B.A

Options :

686340155097. 1
686340155098. 2
686340155099. 3
686340155100. 4

Question Number : 76 Question Id : 68634039271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of categorical propositions are -
A. Universal Negative
B. Particular Negative

C. Universal Attirmative
D. Particular Affirmative

Choose the correct answer from the option given below :

1L.CA DB
2.A.B,C,D
3.A.C.B.D

4.D.B.C.A
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Options :

686340155101. 1
686340155102. 2
686340155103. 3
686340155104. 4

Question Number : 76 Question Id : 68634039271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Feurfde afasiard &1 3Hd &

A. Jaoordt Feuras
B. 3ol HuYUTHD
C. oAUl WIHRTAD

D. Ul WP RIHD
=14 &0 70 fadedl | 9ol 3R &1 994 & |

I OV D M -

2.A,B,C,D
3.4A,C.8,1D

4.D.B.C.A

Options :

686340155101. 1
686340155102. 2
686340155103. 3
686340155104. 4

Question Number : 77 Question 1d : 68634039272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The order of quantificational propositions are -

A. Existential Instantiation
B. Universal Instantiation

C. Existential Generalization
D. Unmiversal Generalization

Choose the correct answer tfrom the option given below :

1. A.B.C.D

2.A.C.B.D
3: DB CHA
4.B.A,D,C

Options :

686340155105. 1
686340155106. 2
686340155107. 3
686340155108. 4

Question Number : 77 Question Id : 68634039272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

giRAUHIES UidFfrdl &1 3% 6:

A. RGAIRD TP
B. dodTdl eFidid Ul

C. HKIAUID HIDHI]
D. aaardt Gra=iHm ol

=14 &0 70 fadedl & 9ol 3O &1 994 & |

1.A,B,C.D

2.A,C,. B, D
3.D,B, LA

4.B.A.D.C

Options :

686340155105. 1
686340155106. 2
686340155107. 3
686340155108. 4

Question Number : 78 Question Id : 68634039273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a kind of 'Pitakas' in Buddhism?

A. Dhamma Pitaka

B. Sutta Pitaka

C. Abhidhamma Pitaka
D. Vinaya Pitaka

Choose the correct answer from the option given below :
1. Aonly
2. B only
3. C only

4. D only

Options :

686340155109. 1
686340155110. 2
686340155111. 3
686340155112. 4

Question Number : 78 Question Id : 68634039273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
digyd d e 1 1o teR REfafGa g a9 s T =sl o ¢

A 4 fOedh

B. 4« fuc®

C. Ny [Ueh
D. fa=g fues

i f&d 71U fadpedl § 99 SUged IR DI 99 HIfOIU |
1. Hdd A

2. $dd B

3. Hgd C

4. Had D

Options :

686340155109. 1
686340155110. 2
686340155111. 3
686340155112. 4
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Question Number : 79 Question Id : 68634039274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The order of the castes from higher to lower according to Hindu Mythology.

A. Brahman - Vaishya - Kshatriya - Shudra
B. Kshatriya - Brahman - Shudra - Vaishya
C. Shudra - Vaishya - Kshatriya - Brahman
D. Brahman - Kshatriya - Vaishya - Shudra

Choose the correct answer from the option given below :
1. A only
2. C only
3. D only

4. B only

Options :

686340155113. 1
686340155114. 2
686340155115. 3
686340155116. 4

Question Number : 79 Question Id : 68634039274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feg My & 3uR ifadl &1 3= 4 A= HH ©:

A. SITEI0T - 9%9 - &3 - Y&

B&riéumwa@ém
C. % - A9 - &7 - S0
D. STeI0l - &3 - 4% - Y&

i 0 v fagedl | 9l 3O &1 99 & |
1. Had A
2. Had C

3. Hdda D

4. Had B

Options :

686340155113. 1
686340155114. 2
686340155115. 3
686340155116. 4
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Question Number : 80 Question Id : 68634039275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements ;

Statement - I : Sankara believed that Brahman 1s the only Reality.

Statement - II : Sankara 1s an unqualified monaist.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.

4. Statement I 1s false but Statement II 1s true.

Options :

686340155117. 1
686340155118. 2
686340155119. 3
686340155120. 4

Question Number : 80 Question Id : 68634039275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy RumUe:

PY: IR BIHJ YIS T Bl TS HHA AU B |

HYF 11 : TP U AP rgaardi g |

SWIgd HY- D AP H, Aid 30 770 fdh eyl § I el I &1 994 DIT:

. PYT IR GHI 9T &
2. PYT 1 AR 11 SHT A B

3. HY 1 I 2. Afb HYF 11 3T ©

4. DY HFA B, Wb YT I T ©

Options :

686340155117. 1
686340155118. 2
686340155119. 3
686340155120. 4

Question Number : 81 Question Id : 68634039276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Give below are two statements :

Statement - I : Carvaka rejected Moksa as one of the goals of life.
Statement - II : Shankaracharya rejected Moksa as one of the goals of life.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are talse.
3. Statement I 1s true but Statement II 1s false.

4. Statement I 1s false but Statement II 1s true.

Options :

686340155121. 1
686340155122, 2
686340155123. 3
686340155124. 4

Question Number : 81 Question Id : 68634039276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEAE G A CURI S
HYF1: AP - olig- & AY & U H JI& HT Ga- fhdr o |
HYT 11 : TP A oifa & g & 39 H Tlef HT Ta- fhar T |

SWRigd $Y- & Al H. A (G0 70 f[dhedl # I ol IO BT I94 DHIfole:
1. DY AR 11 SHI 94 &
2. PYT 1 AR 11 HT A B

3. YT 1 I 3. Al FYT 11 3T ©

4. DY HIY B, AP U1 T ©

Options :

686340155121. 1
686340155122. 2
686340155123. 3
686340155124. 4

Question Number : 82 Question Id : 68634039277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Give below are two statements :

Statement - I : Deep Ecologists emphasize on the need to provide autonomy to the environment.

Statement - II : One of the major reasons for environmental degradation is that nature has been taken as an end
in 1itself.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I 1s correct but Statement II 1s incorrect.

4. Statement I 1s incorrect but Statement II 1s correct.

Options :

686340155125. 1
686340155126. 2
686340155127. 3
686340155128. 4

Question Number : 82 Question Id : 68634039277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GG AU

By 1 - THR safarufae] 3 yafarur o Wkl UeH &1 &1 AT Hdl R a9 2 g |

HYA 11 : FAIGRUITY =1 & U@ HRUM H ¥ U I8 ¢ [ Ul &l 38 3id & v H feran man g |
IRIGd Y9 & HdlD H. Aid S0 770 f[dHeqi § 9 el IR 1 904 HifIv:

. PYF ISR IIGHI 9T &
2. BYT1 3R 11 SHT 3T B

3. YT I I 8. Al YT 1L I ©

4. PYTI 3T 8. AP HYT I I ©

Options :

686340155125. 1
686340155126. 2
686340155127. 3
686340155128. 4

Question Number : 83 Question Id : 68634039278 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement I : Tri-Ratna belongs to Jaina Ethics,
Statement II : Tri-Ratna belongs to Buddhist Ethics,

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct.
2. Both Statement [ and Statement I are incorrect.
3. Statement I 1s correct but Statement II 1s incorrect.

4. Statement I 1s incorrect but Statement I 1s correct.

Options :

686340155129. 1
686340155130. 2
686340155131. 3
686340155132. 4

Question Number : 83 Question Id : 68634039278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR pyafRumUe:
HYT1: PR A Aifdera I d&efia g |
FHYF 11 : R g FifaIa 3 J6f9d B |

SWRIFd HYF & AP A, - 4T ¢ fadwed] & 9 Falite I9gdd IR 1 99 DiI:
. BYTIMR IS 90 &
2. PYTI AR 11 SHT 3§

3. PYT 1T &, AP FYT 11 T ©

4. DY HII B, AP DU I T ©

Options :

686340155129. 1
686340155130. 2
686340155131. 3
686340155132. 4

Question Number : 84 Question Id : 68634039279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :

Statement I : It 1s necessary 1n a valid argument that all the premises and conclusion are true.
Statement II ;: Validity / Invalidity of an argument is not dependent on the truth or falsity of the premises.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I 1s correct but Statement II 1s incorrect.

4. Statement I 1s incorrect but Statement I 1s correct.

Options :

686340155133. 1
686340155134. 2
686340155135. 3
686340155136. 4

Question Number : 84 Question Id : 68634039279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂaa$ﬂ:{ﬁﬁ7ﬂ{%‘:

HY1: dugfad § 98 IS o b Gt suraray 3R sy 9 8|

Y 11 : fdl gfaa o1 duan saydr Rl i Iadl a1 S IR HUR 78 Har g |
SWRIFd HYF & AP A, - 4T 71U fadwedi & I galite I9gad IR 1 90 DIfoI:

1. PYT 1 AR 1 SHI G ©
2. HYFI MR 1 HI A §

3. YT 1 A 8. Afe- HYT 11 A 8

4. FYTI I 8. AP HYT I dT ©

Options :

686340155133. 1
686340155134. 2
686340155135. 3
686340155136. 4

Question Number : 85 Question Id : 68634039280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I : Qualitatively. a proposition may be Universal or Particular,

Statement II ; Quantitatively. a proposition may be Affirmative or Negative.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I 1s correct but Statement II 1s incorrect.

4. Statement I 1s incorrect but Statement I 1s correct.

Options :

686340155137. 1
686340155138. 2
686340155139. 3
686340155140. 4

Question Number : 85 Question Id : 68634039280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS sy feu U E:

HY 1 : UMTHD U J Dl Wil Fdoard! g1 3{=reardi gl Tl o |

FHYA 11 : IRATHS 39 J Hig UlaI WPRIED I1 8D 8l IFdl o |
SWRiad HY- & Al H. HId [0 70 f[dbedl § 9 ol IR B 994 DIIT:

1. YT RIS T &
2. HYF1 AR 11 3HI T ©

3. PYT I T &, AP FYT 11 T ©

4. DY HID B, AP DU I T ©

Options :

686340155137. 1
686340155138. 2
686340155139. 3
686340155140. 4

Question Number : 86 Question Id : 68634039281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I : Buddhism 1s a Nastik system.

Statement II : Buddhism emphasizes on soteriological aspects of human transformation.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I 1s correct but Statement II 1s incorrect.

4. Statement I 1s incorrect but Statement I 1s correct.

Options :

686340155141. 1
686340155142. 2
686340155143. 3
686340155144. 4

Question Number : 86 Question Id : 68634039281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl CMHQ'QTTE{%:

HY- 1 : 9lgHd P A1KID GUaI © |

$YU 11 : SIGHd HHd PR & HiFIRAT U& TR dd adl © |

SWRIFd HYF & AP A, -id 4T U fadwed] & O galite I9gad IR 1 90 Di:

1. DY AR IS T &
2. PYT 1 IR 11 SHT A B

3. PYT 1T &, AP FYT 11 T ©

4. DY HII B, AP DU I T ©

Options :

686340155141. 1
686340155142. 2
686340155143. 3
686340155144. 4

Question Number : 87 Question Id : 68634039282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following 1s rejected by Carvaka?

A. Earth
B. Water
C. Fire
D. Air
E. Ether

Choose the most appropriate answer from the option given below :
1. A only
2. C only
3. D only

4. E only

Options :

686340155145. 1
686340155146. 2
686340155147. 3
686340155148. 4

Question Number : 87 Question 1d : 68634039282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFfaRad & @ feueT dioR 9aie gRI [Bar mar g 2

A. gl
B. il
C. 3

D. a1
E. TP

Al 14U 7T fddedl H ¥ Jad IUgad IR B 99 PIOIT:
1. $Had A

2. Had C

3. HddA D

4. HAA E

Options :

686340155145. 1
686340155146. 2
686340155147. 3
686340155148. 4
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Question Number : 88 Question Id : 68634039283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who rejected Moksa as one of the goals of life?

A. Jamna Religion

B. Baudha Religion
C. Carvaka
D. Samkhya System

Choose the most appropriate answer from the option given below :

1. A
2.B
30
4.D

Options :

only
only
only

only

686340155149. 1
686340155150. 2
6863401551351. 3
686340155152. 4

Question Number : 88 Question Id : 68634039283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fFfefRad 5 I fga oifga & @60 & $U § Hig & SGIeR fdhars 2

A. o yd

B. dl% YH

C. 91ald

D. Ii&a g3
14 fu U famedl & 9 9ad F9gad TR D1 99 BIfIT:

.8...:"

1.

aclt A

o
.8.,-*

acli B

3. %P

act C

4. P

Options :

6863401551
6863401551
6863401551

act D

149, 1
150. 2
[31. 3

6863401551

152. 4
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Question Number : 89 Question Id : 68634039284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Pratitya - Samutpada’ is the causal theory of -

A. Buddhism
B. Jainism
C. Yoga

D. Mimamsa

Choose the most appropriate answer from the option given below :

1. A only
2. B only
3. C only
4. D only
Options :
686340155153. 1
636340155154. 2

686340155155. 3
686340155156. 4

Question Number : 89 Question 1d : 68634039284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v SHATE e § 2 frae oru fagia g 2

A. SISHd

B. 5HHd
C. O
D. HiHEl

9 fau 1 fasedl § @ 9l Iugead Ik 1 994 Difold:

1. Hdd A

2. PAd B

3. HadA C

4. Had D

Options :

686340155153. 1
686340155154. 2
686340155155. 3
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686340155156. 4

Question Number : 90 Question Id : 68634039285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a Purusartha?

A. Dharma
B. Satya
C. Moksa
D. Artha
E. Kama

Choose the most appropriate answer from the option given below :
1. A only

2. B only

3. D only

4. E only

Options :

686340155157. 1
686340155138. 2
686340155159. 3
686340155160. 4

Question Number : 90 Question Id : 68634039285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R I oY S W81 8 °

A. 4H
B. 94
C. 11
D. Y
E. BIH

-1 AU U [deedl & I 999 IUgad IR BT 99 PIOIC:

¥

.g...-’

aclt A

¢ .

4

dcl B

3. HddA D

4. BAd E

Options :

-
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686340155157. 1
686340155158. 2
6863401551359. 3
686340155160. 4

Question Number : 91 Question Id : 68634039286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fallacy of "Begging the question” 1s otherwise called as -

A. Non Causa Pro Causa

B. Plurium Interrogationum

C. Argumentum ad Ignoratiam
D. Petitio Principii

E. Argumentum ad verecundiam

Choose the correct answer from the option given below :

1. D only
2. C only
3. B only
4. A only

Options :

686340155161. 1

686340155162. 2

636340155163. 3
686340155164. 4

Question Number : 91 Question Id : 68634039286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ST S gaT=) I AW dhary B HEaRad # 3 59 7 J it ST ordT &:

A, HPRU-HRU EY

C. SRFHAP giad
D. HTHIHT &Y

E YSHAD gigd
41 f3U U [d&cdl | ¥ el 3R &1 994 DIoIg:

-

1. 92dd D

-

2. @Al C

3. Pdd B

4. Had A

Options :

686340155161. 1
686340155162. 2
686340155163. 3
686340155164. 4

Question Number : 92 Question Id : 68634039287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following concepts are applicable in the Philosophy of Amartya Sen?

A. Nit1

B. Justice

C. Veil of Ignorance
D. Poverty

E. Fairness

Choose the correct answer from the option given below :

1. A. B. C only
2. A.B.D only
3.B. C.D only

4. B. D. E only

Options :

686340155165. 1
686340155166. 2
686340155167. 3
686340155168. 4
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Question Number : 92 Question Id : 68634039287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F=fafed 3 9 3 Ji Sheamt oid 99 & - H S9disd gidl g 2

A Hifd
B. 10
C. 33 BT HG0

D. [Fear
E. Sg&fdr

4 QU MU f[d el & 9 ot IR D1 Ig- DIig:

1. PAAA.B. C

2. PAAA.B.D

-

3.94¢1 B.C.D

L]

4. PAAB.D. ]

Options :

686340155165. 1
686340155166. 2
686340155167. 3
686340155168. 4

Question Number : 93 Question Id : 68634039288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an element of Samkhya Prakrti?

A. Sattva
B. Rajas
C. Tamas

D. Manas

Choose the correct answer from the option given below :
1. A only
2. B only
3. C only

4. D only

Options :

686340155169. 1
686340155170. 2
686340155171. 3
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686340155172. 4

Question Number : 93 Question Id : 68634039288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e Uofd &1 dd FEfid f Y sF I el € 2

A. 9d
B. 3o
C. dH9Y
D. 5

- QU 7T fawedl | 1 el IR &1 994 BIfoi:
1. $Had A

2. Had B

3. Hdd C

4. Had D

Options :

686340155169. 1
686340155170. 2
686340155171. 3
686340155172. 4

Question Number : 94 Question Id : 68634039289 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

LIST I LIST II
B. |Comparison [ I JArthapatti

D. [Presumption | IV [Pratyaksa

Choose the correct answer from the options given below:

1. A-IV, B-III. C-I, D-II
2. A-I. B-II. C-III. D-IV
3. A-IV., B-1, C-III. D-II
4. A-IV. B-I1I. C-II, D-I

Options :
686340155173. 1
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686340155174. 2
686340155175. 3
686340155176. 4

Question Number : 94 Question Id : 68634039289 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 g1 11 9 fHaH Sifee

fFafaiRad fawedl § T Tsl 3R &1 99 DIl -

1. A-IV. B-III. C-1. D-II

2. A-1. B-1I. C-III, D-IV
3. A-IV. B-1, C-III. D-II
4. A-IV, B-I1II. C-II, D-I

Options :

686340155173. 1
686340155174. 2
686340155175. 3
686340155176. 4

Question Number : 95 Question Id : 68634039290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

LIST I LIST II
AEath  |LIAP
B |Water | IL [Rsit

D JAr VT

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

2. A-Il, B-1. C-IV, D-III

3. A-IV, B-III. C-II. D-I

4. A-IV. B-1. C-I11. D-II
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Options :

686340155177. 1
686340155178. 2
686340155179. 3
686340155180. 4

Question Number : 95 Question Id : 68634039290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdi 1 &1 g4t 11 ¥ [faE S

FgiciRad [ddedi § 9 Yol 3R &1 994 DT -

1. A-I. B-1I. C-III. D-IV

2. A-Il. B-1. C-IV, D-III
3. A-IV. B-III. C-II. D-I
4. A-IV, B-1, C-III. D-II

Options :

686340155177. 1
686340155178. 2
686340155179. 3
686340155180. 4

Question Number : 96 Question Id : 68634039291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List I with List I1

LIST I LIST 11
A |Sankara | I |Qualified Monisr
B Ramanuja | II Monism

C Madhva | I Qualified dualism
_D. [Vallabha

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I
2. A-II, B-1. C-IV. D-III
3. A-I. B-II. C-III. D-IV
4. A-11. B-111, C-1. D-IV

Options :

686340155181. 1
686340155182. 2
686340155183. 3
686340155184. 4

Question Number : 96 Question Id : 68634039291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=l 1 31 gl 11 9 fAaH Sifee

FafaRad f[aeeal § 9 Yol 3aR &1 994 DI -
1. A-IV. B-III. C-II. D-I
2. A-IL. B-L. C-IV. D-III

3. A-I. B-1I. C-III. D-IV

4. A-11. B-III. C-1, D-IV

Options :

686340155181. 1
686340155182. 2
686340155183. 3
686340155184. 4
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Question Number : 97 Question Id : 68634039292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

LIST I LIST 11
A Dharma | I |Annihilation
B JArtha |1l Desire

| C [Kama [N [Wealth
D. Moksa  |IV. [Obligation

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-I
2. A-L. B-1I. C-III. D-IV
3. A-IV. B-II. C-III. D-I
4. A-I1. B-1. C-IV. D-III

Options :

686340155185. 1

686340155186. 2

686340155187. 3
686340155188. 4

Question Number : 97 Question Id : 68634039292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gt 11 ¥ [HdE Sifsre

W | §Etm
Alm |1 [S®E (i)
EN ECE 8 oS

Dlma __ [Vpw

Fafeiad fadedl § 9 el AR &1 94 DI -

1. A-IV. B-III. C-II. D-I

2. A-L. B-II. C-III. D-IV
3. A-IV. B-1I. C-11I. D-I
4. A-11. B-1. C-IV, D-III
Options :
686340155185. 1

686340155186. 2
686340155187. 3
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686340155188. 4

Question Number : 98 Question Id : 68634039293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

IST I (Figures of Syllogism LISTII

[ AN
O S [

plevem M7

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV
2. A-IV. B-III. C-II. D-I
3. A-I. B-II1. C-II. D-IV
4. A-IV. B-11. C-III. D-I

Options :

686340155189. 1

686340155190. 2

686340155191. 3
0636340155192. 4

Question Number : 98 Question Id : 68634039293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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ﬁﬁﬂlaimuﬁfﬂu B e Pifoly

-4 feu U faoedl | 9 ol IR &1 994 PIfs:

1. A-1. B-1I. C-III, D-IV

2. A-1IV, B-I1I. C-II, D-I

3. A-I. B-1II. C-II. D-IV

4. A-IV. B-I1. C-III. D-I

Options :

6863401551
6863401551
191. 3
192. 4

686340155
686340155

89. 1
90. 2

Question Number : 99 Question Id : 68634039294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

B[R

Propositional Relations -

LIST1I LIST II
A [Re atmn of A with 'E’ -

'

' C. [Relation of 'A’ with O
'D. |Relation of T with 'O’

Choose the correct answer from the options given below:

1. A-I. B-1I. C-IIL. D-IV

2. A-IV. B-II. C-1. D-III

3. A-IV. B-III. C-II. D-I

4. A-I1L. B-1. C-II. D-IV

Options :

ARA2ANTRSTAO2 1
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686340155194. 2
686340155195. 3
686340155196. 4

Question Number : 99 Question Id : 68634039294 Question Type : MCQ Option Shuftling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 S 1Y Gl 11 DT HAE SIS
yiagieRe day

AJADEDHYYY| I oAl
B [ADITHAUYGY | L [SUIHT

=14 fau U faaedi | O gl 3R &1 994 HIfoI:

1. A-I. B-1I. C-III. D-IV

2. A-IV, B-I1. C-I, D-III

3. A-IV. B-III. C-II. D-I

4. A-III, B-1. C-II. D-IV

Options :

686340155193. 1
686340155194. 2
686340155195. 3
686340155196. 4

Question Number : 100 Question Id : 68634039295 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Simone de Behaviour talked about the right of women to vote and have other political rights.
Reason R : First wave feminism focused on political rights of the women.

In the light of the above statements. choose the correct answer from the options given below :
1. Both A and R are true and R i1s the correct explanation of A.
2. Both A and R are true but R 1s NOT the correct explanation of A.
3. A 1s true but R 1s false.

4. A 1s false but R 1s true.

Options :
686340155197. 1
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686340155198. 2
686340155199. 3
686340155200. 4

Question Number : 100 Question Id : 68634039295 Question Type : MCQ Option Shuffling : No Is Question Mandatory

: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

414 gl HuF ﬁ'q iJ % U AHHHYF (Assertion A) & =0 H ferlad % dl Gl 39D PRI (Reason R) &

SO H:

AfHFYT A - G19H g FI3aR 3 Afgasii & Gaif¥eR Ud 3 Jo-iae AUHRI 99 Pl g |

PRI R : TRIAIG ®I YUYH deX Afeansfi & Jo-iae AfUHERI o) Hisa o |
SWRIF BYF P AP H, Aid S0 0 fdbeqi H 9 ol IR B 99+ DU |

1. ATYT R I U8l & dUTR. A DI Yol UT=AT ©

2. ATYT R GHI gl g, i1 R, A B Hol URAT 6l ©
3. A5l § dfdh-I R Wel 7ol ©

4. A 81 & b R TR B

Options :
686340155]
6863401551

197. 1
198. 2

6863401551

199, 3

686340155200. 4
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